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Given the polynomial function defined above, what are its zeros?

A -9, -6. 2.3
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Wt*h of the totlowirw functions could represent the graph

in the y-plane, where

+ xA2+8x

c @ - xA2+8x

X' 3 4(OX

-2-9

6, A polynomial has zeros at -9, 2, and O. Which of the following cou d be the polynomial?

x2-7x-18 X xA3+7xA2-18X

-11x-18 DI xA3+ 2-25<+18 
X' o is ze-,o

Let Which of e following is equivalent to g(g(x))?

64x-10

64xA2+25 D 64xA2-80x+25

8. C = 1.2272M 3.0556F

1-so

An English teacher uses the equation above to give the composite score, C, on the final C

exam, given and F points on the free res onse uestions.

_-5& Which of the following equations correctly gives the number of correct multiple choice .,Ob
-3.05518

answe in term f the com osite score and the number of points on the free respons
C-30S5G

questions

M (C - 3.0556F)/12272

c M (3.0556F - C)/l .2272

B M = (C/l .2272)- 3.0556F

D M = (3.05S6F/1.22722) - C
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9. (a+b+c)2

Which of the following is equivalent to the above expression?

a2+b2+c2+2(ab+ ca) a 2+b2+c2

C a2+2abc+c2 I_D] a 2+2ab+b 2+2bc+c2 
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10. Which of the following represents all solutions (x,y) to the system of equations shown
below? Uc •u--e-7

x-x2-x-5

, -5) and ,-1) (3' 1) and (-1, -3)

11. (3xo-Y3x-s-)

If(a,b) is a solution to the syste of equati s shöwn above and a>O,

A 1/2 1

5/4

o: (qx -5Yqxe5)
12. 4K-S-'D qy. 5-,D

5

ha is the value

The

ibJC

c (0, 2) and (2 , 4)

13.

2--¯IDJ 1), (1, 1), (0, 2) and (2, 4)

Let x=a and x=b be the olutions to th equation above. What is the value of a + b?
Jew v o

-5/2 -1/2

5/2 D 9.5
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14.

A 260

c 7000

IS.

c 12.5 cm

16.
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A 1 second

c 4 seco s

17.
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23.

b". what is the value of T?

24.

What is the sum of the soluvons to the above equation?

1

-3

o z (2+3 -q q 2
1

For wtnt org f(x) 2/+¯2 to

-I and O O arg

1 and 2

If x > O and 2x2 - = O, what value of x?

-2

What is the sum oft e -1)2 (X+

-3

x 33
1D , 10/3

Ares c ere ima ulation of a city is

th current population of the ci is 80,0 hich oft -6/2

models the population of the •tyt e rsfrom now ac

- 0.006)t 80,000 (I-O.(bb'

80,000 - 1.006t D 80,00


